Flexsteel Style# -

1966-50PH

Factory Style# -

9064-50HL

Date updated -

12/19/2023

Reference Picture

Part Description

Supplier Part#

Model Number

Spec

Flexsteel Part#

Input:AC100-240V~50/60Hz

2.4A
Output: 29V/2A 58.0W LF306TRNS
Transformer KDDYOO08F-306 KDDYOO08F-306
Output: 29V/4A MAX 116.0W 3000018879
Duty Cycle: Max 10%; 2min
ON/18min OFF
L783LH50
LAF Power Switch KDH249B-005 KDH249B-005 29V Length 96cm
3000020450
Max.L 12 N
ax.Load: 2000 L0414750
Headrest Motor KDYJT018-136 KDYJT018-136 Speed: 12mm/s
3000019349
Stroke: 33mm
Max.L 12 N
Lumbar Motor KDYJT018-105 KDYJT018-105 Sa);egémeor:(/)s 10414650
peed: 3000018936
Stroke: 33mm
Max.Load: 800N
L0411450
Seat Motor KDPT007-99 KDPT007-99 Speed: 42mm/s
3000019344

Stroke: 326mm




LvV401550

H - _ * *
Seat Mechanism L&P 8632-2 L&P 8632-2 Metal 58*68*41cm 3000018949
L0411650
H L Mechani MH1501-2 MH1501-2 Metal 54*42%27
eadrest & Lumbar Mechanis 50 50 etal 5 cm 3000019345
L0406962
KD Back Connector KDBC-3 KDBC-3 Metal 3000019342
L0419950
Bottom Rail KY462 KY462 Metal Length 462mm
3000019354
M7*18 T i
_ , _ 8 Tapping Screw L0409062
Glider and Tapping Screw HPTSPG HPTSPG Diameter 31 H12 Plastic Support
3000019343
Foot
. L0434050
KD Wings Bracket HPCECP HPCECP Metal

3000019222




Back/Arm/Seat/Wing C&S HLC&S
in 946-02 n/a n/a Leather/PVC 3000018939
|
Back/ArmC/:?aF;/(e\;[\/(ein in 946 n/a n/a Leather/PVC HLC&S
& 3000018939

02




Flexsteel Style#t >

1966-60PH

Factory Stylett -

9064-52HL

Date updated -

12/19/2023

Reference Picture

Part Description

Supplier Part#

Model Number

Spec

Flexsteel Part#

Input:AC100-240V~50/60Hz
2.4A

Output: 29V/2A 58.0W LF306TRNS
Transformer KDDYOO8F-306 KDDYOO08F-306
Output: 29V/4A MAX 116.0W 3000018879
Duty Cycle: Max 10%; 2min
ON/18min OFF
L783LH50
LAF Power Switch KDH249B-005 KDH249B-005 29V Length 96cm
3000020450
L783RH50
RAF Power Switch KDH249B-006 KDH249B-006 29V, length 96cm
3000019238
L0416860
Y-Splitter KD 200# KD 200# Length 200cm
3000019351
Max.Load: 2000N
L0414750
Headrest Motor KDYJT018-136 KDYJT018-136 Speed: 12mm/s
3000019349

Stroke: 33mm




Max.Load: 2000N

L0414650
Lumbar Motor KDYJT018-105 KDYJT018-105 Speed: 12mm/s 3000018936
Stroke: 33mm
Max.L : N
ax.Load: 800 L0411450
Seat Motor KDPT007-99 KDPT007-99 Speed: 42mm/s
3000019344
Stroke: 326mm
L1041150
Seat Mechanism L&P 8632-1 L&P 8632-1 Metal 58*68*41cm
3000019425
Headrest & Lumbar MH1501-1 MH1501-1 Metal 54*42%27cm 10411660
Mechanism 3000019346
L0406962
KD Back Connector KDBC-3 KDBC-3 Metal
3000019342
Bottom Rail KY1115 KY1115 Metal Length 1115mm 10419960
L__‘. 8 3000019355




M7%*18 Tapping Screw

Glider and Tapping HPTSPG HPTSPG Diameter 31 H12 Plastic Support L0405062
Screw PP 3000019343
Foot
L0434050
KD Wings Brack HPCECP HPCECP Metal
INgs brac et eta 3000019222
Back/Arm/Seat/Wing HLC&S
Leather/PVC
C&S in 946-02 n/a n/a eather/ 3000018939
Complet
Back/Arr:r/nSFe):aet/eWin in n/a n/a Leather/PVC HLC&S
& 3000018939

946-02




Flexsteel Style# -

1966-63PH

Factory Style#t -

9064-53FBHL

Date updated -

12/19/2023

Reference Picture

Part Description

Supplier Part#

Model Number

Spec

Flexsteel Part#

Input:AC100-240V~50/60Hz
2.4A

Output: 29V/2A 58.0W LF306TRNS
Transformer KDDYOO8F-306 KDDYOO08F-306
Output: 29V/4A MAX 116.0W 3000018879
Duty Cycle: Max 10%; 2min
ON/18min OFF
L783LH50
LAF Power Switch KDH249B-005 KDH249B-005 29V Length 96cm
3000020450
L783RH50
RAF Power Switch KDH249B-006 KDH249B-006 29V, length 96cm
3000019238
L0416860
Y-Splitter KD 200# KD 200# Length 200cm
3000019351
Max.Load: 2000N
L0414750
Headrest Motor KDYJT018-136 KDYJT018-136 Speed: 12mm/s
3000019349

Stroke: 33mm




Max.Load: 2000N

L0414650
Lumbar Motor KDYJT018-105 KDYJT018-105 Speed: 12mm/s 3000018936
Stroke: 33mm
Max.Load: 800N
L0411450
Seat Motor KDPT007-99 KDPT007-99 Speed: 42mm/s
3000019344
Stroke: 326mm
L1041150
Seat Mechanism L&P 8632-1 L&P 8632-1 Metal 58*68*41cm
3000019425
Headrest & Lumb L0411660
eadrest & tumbar MH1501-1 MH1501-1 Metal 54*42%27cm
Mechanism 3000019346
L0406962
KD Back Connector KDBC-3 KDBC-3 Metal
3000019342
L0419962
Bottom Rail KY1663 KY1663 Metal Length 1663mm




M7%*18 Tapping Screw

Glider and Tapping . . L0409062
HPTSPG HPTSPG D ter 31 H12 Plastic S t
Screw lameter astic Stippor 3000019343
Foot
KD Back A bl L0414019
ack Assembly CBAH CBAH Metal
Hardware 3000019242
L0434050
KD Wings Bracket HPCECP HPCECP Metal
3000019222
LAF Drop Down Back LBKHNGLF
Hinge ZFBJL-L ZFBJL-L Metal 3000018881
RAF Drop Down Back LBKHNGRF
Hinge ZFBJL-R ZFBJL-R Metal 3000018882
L0418864
Stainless Cup Holder 7650CH 7650CH H55mm x D84mm (107mm)

3000019145




L745WC64

Wireless Charger JLDK.56.01.12 JLDK.56.01.12 n/a 3000019079
L745AB64
USB A & TYPE C Port PO11.01.01 PO11.01.01 n/a
3000019080
Wireless Charger LWLSTRNS
PW.10.18.201 PW.10.18.201 2.9V 1.8A
Transformer 3000018880
Back/Arm/Seat/Wing HLC&S
Leather/PV
C&S in 946-02 n/a n/a eather/PVC 3000018939
C let
Back/ArrS\r/nSZ:t/eWin in n/a n/a Leather/PVC HLC&S
8 3000018939

946-02




Flexsteel Style## -

1966-64PH

Factory Style# -

9064-54HL

Date updated -

12/19/2023

Reference Picture

Part Description

Supplier Part#

Model Number

Spec

Flexsteel Part#

Input:AC100-240V~50/60Hz
2.4A

Output: 29V/2A 58.0W LF306TRNS
Transformer KDDYOO8F-306 KDDYOO8F-306
Output: 29V/4A MAX 116.0W 3000018879
Duty Cycle: Max 10%; 2min
ON/18min OFF
L783LH50
LAF Power Switch KDH249B-005 KDH249B-005 29V Length 96cm
3000020450
L783RH50
RAF Power Switch KDH249B-006 KDH249B-006 29V, length 96cm
3000019238
L0416860
Y-Splitter KD 200# KD 200# Length 200cm
3000019351
Max.Load: 2000N
L0414750
Headrest Motor KDYJT018-136 KDYJT018-136 Speed: 12mm/s
3000019349

Stroke: 33mm




Max.Load: 2000N

L0414650
Lumbar Motor KDYJT018-105 KDYJT018-105 Speed: 12mm/s 3000018936
Stroke: 33mm
Max.Load: 800N
L0411450
Seat Motor KDPT007-99 KDPT007-99 Speed: 42mm/s
3000019344
Stroke: 326mm
L1041150
Seat Mechanism L&P 8632-1 L&P 8632-1 Metal 58*68*41cm
3000019425
L0411660
Headrest & Lumbar Mechan MH1501-1 MH1501-1 Metal 54*42*27cm
3000019346
L0406962
KD Back Connector KDBC-3 KDBC-3 Metal
3000019342
o — Bottom Rail KY1438 KY1438 Metal Length 1438mm
3000019357




Glider and Tapping

M7%*18 Tapping Screw

L0409062

HPTSPG HPTSPG Di ter 31 H12 Plastic S t
Screw ameter asHESUPPOTE 3000019343
Foot
. L0434050
KD Wings Bracket HPCECP HPCECP Metal 3000019222
Hines for Console L0390164
HPHCHY HPHCHY Metal
Storage eta 3000019334
Hidden Hinge for Cup 1043PKHY 1043PKHY L150mm L0410164
Holder 3000019148
L0436464
Stainless Cup Holder 7650CH 7650CH H55mm x D84mm (107mm)
3000019221
L0418864

Wireless Charger

JLDK.56.01.12

JLDK.56.01.12

n/a

3000019145




L745WC64

USB A & TYPE C Port PO11.01.01 PO11.01.01 n/a 3000019079
Wireless Charger LWLSTRNS
PW.10.18.201 PW.10.18.201 2.9V 1.8A
Transformer 0.18.20 0.18.20 V18 3000018880
Back/A Seat/Wi HLC&S
ack/ rr.n/ eat/Wing n/a n/a Leather/PVC
C&Sin 946-02 3000018939
|
Back/Afrzr/nSF;ae:/eWin in n/a n/a Leather/PVC HLC&S
& 3000018939

946-02




